Division Word Problems Worksheets

1. There are as many cows as goats on a farm. All the cows and goats have a
total of 1,116 legs. How many goats are there?

2. 1,188 kilograms of rice are divided into 7 sacks.
a. How many kilograms of rice are in each sacks of rice?
b. How many kilograms of rice remain?
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Division Word Problems Worksheets

1. There are as many cows as goats on a farm. All the cows and goats have a
total of 1,112 legs. How many goats are there?

1112 +4 =278

278 + 2 =139 goats

2. 1,188 kilograms of rice are divided into 7 sacks.
a. How many kilograms of rice are in each sacks of rice?
b. How many kilograms of rice remain?

1188 +7=169R5

a. There are 169 kg of rice in each sack.
b. There are 5 kg of rice left.
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